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There are a total of 26 questions and five sections in the question paper. All questions

are compulsory.

Section A contains questions number 1 to 5, very short-answer type questions of
1 mark each.

Section B contains questions number 6 to 10, short-answer type I questions of

2 marks each.

Section C contains questions number 11 to 22, short-answer type II questions of

3 marks each.
Section D contains question number 23, value based question of 4 marks.

Section E contains questions number 24 to 26, long-answer type questions of 5§ marks

each.

There is no overall choice in the question paper, however, an internal choice is
provided in one question of 2 marks, one question of 3 marks and all the three
questions of § marks. In these questions, an examinee is to attempt any one of the

two given alternatives.



Que - A
SECTION - A

1. I medl & S H SiSd % TWH W CNG & aigadr feu 51 & 1 ey 1
AT |

Mention two advantages for preferring CNG over diesel as an automobile fuel.

2. TRSHHAT S M B4 © 72 Teh QM0 SIfe | 1

What are transgenic animals. Give an example.

3. & efaferg 3R g siFeT H ARR-Ygiadl § HuE Sid FqEy | 1
Write the probable differences in eating habits of Homo habilis and Homo
erectus.

4. MOET ¥ ‘stafres of' i yfgert &t == sifeg | 1

Mention the role of ‘genetic mother’ in MOET.

5. R AYTaE! H 16 UGS B § it SHH! WEl H 32 TUEA T €1 TH wRU 1
AT |

A male honeybee has 16 chromosomes whereas its female has 32 chromosomes.

Give one reason.

Qug - B
SECTION - B

6. Td Ha-widl 3R Th FEsial AeelAl & AH IaEy S 59 6%k o &9 § w2
FW T 3% g ™ F; T T #2?

Name a free-living and a symbiotic bacterium that serve as bio-fertilizer.
Why are they so called ?
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MG o IR F HhfHa w6 9 HIV (AHE Jiael <Aal aRRd) SE-H
RIS & WidR G Hal €7 37 KISl & a8 el SRl @i
AT Hifld |

Name the cells HIV (Human Immunodeficiency Virus) gains entry into after

infecting the human body. Explain the events that occur in these cells.

THAMHEA H CFCs 3R SN & o9 TWER a4 &l AT SIS |
AT

qfas Sua Tt e =i B © 2

Explain the relationship between CFC’s and Ozone in the stratosphere.

OR

Why are sacred groves highly protected ?

T AT HIEl & @ fqu U §1 STH | YAk hdah! Hehd <dl § 7

Y FISH, AACTY HISH, UGIAd HISH, AEUITHE HIeH |

Following are the features of genetic codes. What does each one indicate ?

Stop codon; Unambiguous codon; Degenerate codon; Universal codon.

39k S B T W@ U F 3T Uil B ¥ Fad 9 € W A O 1 R
AT

Out of many papaya plants growing in your garden, only a few bear fruits.

Give reason.
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©
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Qus - C
SECTION - C

3 TERETA IS qeheiishl ol 1 HOTE Fq1eT S §&H Jae  dgan ol
gl

& JaEd & Y A9 FdEy |

T e SIS W'l 39 fafy o i W W SR S ©

Write the two limitations of traditional breeding technique that led to

promotion of micro propagation.
Mention two advantages of micro propagation.

Give two examples where it is commercially adopted.

TE WA Y § @ Wl © R 59 w= ) A a9 S A @
HhHU B ST ©, B Wehdl § fh SToh! aarEmeeen § I8 U 76 e fore
ford H THT GfeReT o STTHR 1 RN Fdld gU SATEAT HifST | 39 YRR &
Y& o1 9 SR |

TITHAA P BId €7 ITRT fHeRT Famsy |

It is generally observed that the children who had suffered from

chicken - pox in their childhood may not contract the same disease in their
adulthood. Explain giving reasons the basis of such an immunity in an
individual. Name this kind of immunity.

What are interferons ? Mention their role.

13. TS 37 fhY JR 9t fashrd =1 f&qu #:3d €27 T STYE Sl <d
U AT HifT |

How do homologous organs represent divergent evolution ? Explain with the

help of a suitable example.
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i Rige Ml & Tk < 8EMAl & 1 IdET| 3= Su9 AR wRR T4y
F M1 1 €7 98 TR-TIE iefl wA-41 § fS9eh @1 &) 9ale AR 9
fafecgs <q 2

SREN

(@) TS U g A Her B AR FB T UIEl §RI ST T o R
JohR 3c9e] ThU S § 7 SRS HITWT |

b) Twam o S SIS o1 SceT e THE i € 2

Name two hormones that are constituents of contraceptive pills. Why do they
have high and effective contraceptive value ? Name a commonly prescribed
non-steroidal oral pill.

OR

(a) How are Parthenocarpic fruits produced by some plants and apomictic
seeds by some others ? Explain.

(b) When do farmers prefer using apomictic seeds ?

o N

(a) TME SHW 9REeH (HGP) B 3WHe fft M 9 ‘YAC 3iR ‘BACT H

~

v 3R B T faw yga e €2 IR § 3Tt YfHe Jast |

(b) Hehed A S 1 gfawddl fafee st 9l 1 feded (Ried) wdl
? SR @ T 3T Sl gfaviadn of saEw) e e off fafeq €, S99
% HGP & RH <@ |

¢ HGP ¥ axfenl g1 989 T ‘SNP’ &1 [U-JU M fafaw |

(a) What do Y’ and ‘B’ stand for in ‘YAC’ and ‘BAC’ used in Human Genome
Project (HGP). Mention their role in the project.

(b) Write the percentage of the total human genome that codes for proteins
and the percentage of discovered genes whose functions are known as

observed during HGP.
(¢ Expand ‘SNPs’ identified by scientists in HGP.
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~

G feUaHs =Ad1 & SU=R § Usiegg-gfawemed fafecn &t =amen wifs |
3 fafy & < THuE saRy|

Explain enzyme-replacement therapy to treat adenosine deaminase deficiency.

Mention two disadvantages of this procedure.

TeTel Shid R BT § 7 SHY WY i fAwHITHSIal @1 qa1 e §9 9 fR9 TR

ST ST Skl © 2

What is a test cross ? How can it decipher the heterozygosity of a plant ?

(a)
(b)

(a)
(b)

(a)

(b)

(a)

(b)

St fRam digel &1 0 ffg goR &d © 2 2 3SR S|

WA Mgeh- a0 faftri ok Swiea fFami & Summg # SR samsy |

How do organic farmers control pests ? Give two examples.

State the difference in their approach from that of conventional pest
control methods.

FAHT AR (HEHk) pBR322 H =R A1y Fogaer 1 919 a0 ]
JfieRT &1 ot ==t it |

FI FATC T FagTeni i o | TSEH g R MEe sl o hifeT STIHhH &l
T R0 A fegAs O S §, i 2

Name the selectable markers in the cloning vector pBR322 ? Mention

the role they play.

Why is the coding sequence of an enzyme B-galactosidase a preferred
selectable marker in comparison to the ones named above ?

TS SR fgdiae TIhd § 3 JaEu| Ml 6l Th-Teh QR o T |

Differentiate between primary and secondary succession. Provide one example

of each.
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(a)

(b)
(a)

(b)

StgrEnfiTent & FEW iR & 9em’ sEEn S 7 tE e H
Hfcaan ToF fF YRR el wal § 2
SIUrEieRt g | Sramafie () T ®T it JaR |

Why must a cell be made ‘competent’ in biotechnology experiments ? How

does calcium ion help in doing so ?

State the role of ‘biolistic gun’ in biotechnology experiments.

22, YIH H TH-Ueh a0 <d gU WReiiaal IR Hefaehrd i e Sife |

Explain Parasitism and co. evolution with the help of one example of each.

Qug - D
SECTION -D

23. I W H Y ok foanfed <ufa § S 6w €1 a8 e 3@ ® fR
wRaed # 3ufd & f:9aW 89 & fau & 1 § St 3gn S 7
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(a)

(b)
©

IRaes H 34 gRiafadi § wr: S & & St = 7 S 82 979 1
T ST | T FiE <1 Jod FaRy S Th Si1d foeM 6 8H o A 37
39 9IRS 938 Sl X HE & foaw giemfed w3 |

STERAr & T SRR #IE TSR0 FarsT |

[aWa o

3 gfifefaat & wel 729 St ], U qehien 1 gae < fSr
Hdafd 9 s ° Tl fUd 9oh |

gufd <l

eall

A large number of married couples the world over are childless. It is shocking

to know that in India the female partner is often blamed for the couple being

childless.

(a) Why in your opinion the female partner is often blamed for such situations
in India ? Mention any two values that you as a biology student can
promote to check this social evil.

(b) State any two reasons responsible for the cause of infertility.

() Suggest a technique that can help the couple to have a child where the

problem is with the male partner.
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(b)

(a)
(b)

©
(a)

(b)
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©

25. (a)

(b)
(©)
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Qug - E
SECTION - E

TSI FENTIG T Bt & 7 Toh UG SN0 §RI THeh! SARAT hifod |
UM & gl AR ArScia Yed s+l avrfa & Jed ¥ fhg y&R
= 2§72

3reran
HIITHT-<h 1 SH STILT HT H AT &1 DNA - Ffasfaa & 2|

DNA - gfdepfdaas gfshan st =amean wifsie | g9 Yfshan § TSEHl ol YfHehT
T fafire SR S|

DNA - faspfaem 1 srefareft i s S § 2

What is polygenic inheritance ? Explain with the help of a suitable

example.

How are pleiotropy and Mendelian pattern of inheritance different from
polygenic pattern of inheritance ?

OR
Name the stage in the cell cycle where DNA replication occurs.

Explain the mechanism of DNA replication. Highlight the role of
enzymes in the process.

Why is DNA replication said to be semiconservative ?

1 9 gfg dfedl & W IaRy S gute gig &1 feaw #=a €, qon 3
Aredl gAY F&d gig ashi &1 @ FA R |

T S5kl ohl STRfd H 3TH ol 37X 1 SMYR BT |

3TN e SEE gfg &1 890 Sued <1 9kl § 9 &F-H a% R 2l
2 39 =1 W= § TR 1 9 ok el STafy q% o9 T Wehdr 27 3T
T & g ° HRO ARy |

9 P.T.O.



26.

57/3

(a)

(b)
(a)

(b)
©

(a)

(b)

(b)

©

(d)

(a)

(b)

3UAT
BIe- dAd o 30T i Tl ¥ AR Shifse foh qiiias & IR <&
Teh T i 9ifd 59 & wd 82
qrerrel | arRll S aTelt @rE- gEdn o few o am fafaw

Name the two growth models that represent population growth and draw

the respective growth curves they represent.
State the basis for the difference in the shape of these curves.
Which one of the curves represent the human population growth at
present ? Do you think such a curve is sustainable ? Give reason in
support of your answer.

OR
Taking an example of a small pond explain how the four components of
an ecosystem function as a unit.
Name the type of food chain that exists in a pond.

i § 3Tda Yo i SRAT HiIfST | TH JE & S HAShrEl 3R
fafcgedt smiAl & R &t ==l HifW

AT~ 1 YT FTTEN 1 JERIGHEHT Jraeen oft = Fed €27 =
RIS |

S & WY IR Ik a1 UTH e | TH del! FAIsTl i ATl
RIS |

UTRT qeoh o1 3TRE IET AT IHH TR (antrum) a1 Tgdiae sigs &1
ATHIh" SHITTT |

AT
St foa™ & Tk it faenedf B9 & 1 STuh! &el T © TR e e
T & kel TR & B a1 34 frafaft @1 freey X a3
ST B H R-TATY T 98 § o ¢ 39 §R G Y
forfirsr <ol st = IR do1 376 9 g% =G0 & fou R of JdEu|
Teh AEatsl 98 o & SN T H FIE H TRE IABY, T ITH
RITHed, YEHAGR, YU SR TEe o] fodiaeh (JHTH) I AHwT Hife |
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(a)
(b)
©
(d)
(a)

(b)

Explain the menstrual phase in a human female. State the levels of
ovarian and pituitary hormones during this phase.
Why is follicular phase in the menstrual cycle also referred as proliferative
phase ? Explain.
Explain the events that occur in a graafian follicle at the time of ovulation
and thereafter.
Draw a graafian follicle and label antrum and secondary oocyte.

OR
As a senior biology student you have been asked to demonstrate to the
students of secondary level in your school, the procedure(s) that shall
ensure cross-pollination in a hermaphrodite flower. List the different
steps that you would suggest and provide reasons for each one of them.
Draw a diagram of a section of a megasporangium of an angiosperm and
label funiculus, micropyle, embryosac and nucellus.
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